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HEZ TO/HEY Hz/5e | E5mI) S71Hel(mg) | mIE FHEH(mg) | EF(9)
Xs 37s2| Ao/ =S =R Hz 250 60 0.24 0
Ao x| a3 Zu|dol= RES 240 70 0.29 19.1
nYYHEE LR EFI HO|UEY 0| =/HEE > 250 80 032 204
HEg ouyxi=3a SMEER /22E2|0} > 250 62.5 0.25 216
=& 3t0|E o SMEER /22E2[0 = 250 62.5 0.25 216
Ope| 2Ef 2EIER02/HEY Hz= 280 50 0.18 8
UE O 3 g2 F)3ZH Ao = H= 250 100 0.40 13
TE O o2 AE (F)SZH A= Hz= 250 100 0.40 0
HIZ7tZEA BR2tLt X E-3 Crelf o/ gae = 250 38 0.15 23
E2E ofjux] A7+E2S EE/SHEN0 0| K| E|H|& Hz= 355 100 0.28 231
22 ofjux| 22t A7HE S EE/SHEN O of X ElH|& H= 355 100 0.28 0
E22F OfUx| 2E2t A E2} A7+E2tS EE/SHEN0f 0| K| E|H|& Hz= 355 100 0.28 0
22 ofux| 2E2} gtatrto]A A7HE S EE/SHENf O X ElH|& Hz 355 100 0.28 0
E2F 0ofu{x| oto|Z2tIHX| A7+E2S EE/SHEN0 0| K| E|H|& Hz= 355 100 0.28 19.7
22E0|1{X| ¥ 23 A7HE S EE/SHEN O of X ElH|& H= 355 100 0.28 225
WA o9x| =33 XT3 SIAAEFR/EUSEHIY Hz 250 60 0.24 232
SEHE o5 EX|ELo| /@ a Y H= 250 150 0.60 18.6
L] oY/ A0 ZSER Hz 350 175 0.50 17
29 Ho|AE0|=/HIE L2l 330 73 0.22 376
OK(YA) AERAE/ HUEYEY HE 250 150 0.60 208
oj{x] £33 AL HAERR2|Ol/@YY H= 250 77 031 20
EH{LIO|E GSZ|H|Y/@USEHEY HE 250 120 0.48 296
o3 cY2 oix| =3 SIABR/EUSEHIY H= 250 60 0.17 184
Fhie| 2 of|LX|] =33 2txu|2| EHALULIEART 0| ¥/ 2 E2|0F > 250 80 0.32 224
HR2 (R EYHZ 2| X| 2T 2|0/ 3 LBYF RES 250 80 0.32 0
3 o|x| A3 ofjfX| 2tYE 2 0| ]| 0] X]7|0] 0] = A/t E & e 250 100 0.40 9.6
3Yo|x| A3 ofjL{X| YE 0l ]| 0] X]7{| 0] 0] = N /Bl = & ¢ 250 100 0.40 9.6
22 9= o1x| =3 Attt GFHLULIEAIFHY 0| H/5F > 330 105 032 0
EEEN RHRYZER RES 250 60 0.24 231
SN2 Y 24 RUEYSER HE 355 100 0.30 0.8
M2 CY 25 RHRYZER R ES 330 100 0.30 0.5
SN2 oY T ROEYSER HE 355 100 0.28 237
MA CY "R RHEYZER H= 355 100 0.28 13
YA oY 22 RUEYSER HE 330 100 0.30 0.6
A2 xS RHEYZER H= 250 60 0.24 232
YA WAL RUEYSER RES 250 60 0.24 12
ReE Hete /0| otat ¢ 250 80 0.32 4
229 g0l go| it LS 100 o132 097 6
HABAYIE SraB R ES 500 75 0.15 208
ojluix] 2E ®R224FY HE 150 150 1.00 2
ol ofjLx| FHUEH| H= 120 230 1.92 4
Fietete ofux| =E-3 FA3|AL obE /e > 250 50 0.20 344
=2|0|Y AT BOGER/EUSEYIY H= 150 30 0.20 17
| o x| 2= FHE EEDMUY =43 H= 100 60 0.60 13
FHA2Z A L{X] ROEYZERF) H= 500 120 0.24 2
A AHLO| Eof| L] RHEYSEF) H= 500 120 0.24 0
F0|M 2¥UIE| A Mzed® H= 250 96 0.38 12.8
ER0YIEF MNZERAR HE 250 59 0.24 18.4
HiLbE @Cldlo|NEo| 2 A /@A A 0L H= 150 48 0.32 13
o3 2 Y3E SHF&B HE 250 50 0.20 264
L EL] @A 0| = H= 250 375 0.15 19.2
EL LU EL] SHFaB R ES 300 75 0.25 22
:THE So| EAl-Zo| Bet WE Haxo| BAI| J|F0 w2} FHHQ &0l me 0.15mg 0| Y FRT HHAE S




